BB PR P 0D 3R 3E ()M ( )& KL (

SR 2EE FIFE EFEN] (No. 1)

MP (BREP144)]
[1] #RErRT, DICENRECHEY EAY L,

[FEAG DB - il - Behg)

1. RE .
a" DR THRINIBUL, ROLH I TE L.
a?xa®=(axa)X(axaxa)=| Q5 a’'’? N )
2 M b ] V 9 r b
(¢*)® = a* X a* X @* S #1
o | n{@0DiE
=(@xa)X(axa)x(axa)=| N | g2 s ;
(abY =abXab=aXbXxaXbh= %m. aXaxX--xXa=a"
£, als d @ e, A" ETEDT, ad [BE (L.
M, m, n DIEOHERO L &, RoOstean|| 29K Vo,
<FEBAERI>  SBoOBOPICEREN A2 A L,
m+mn xm
M amxar= (\ @ @yn=(\ @) @by = (P
<Bl1> WOFHEEZH L,
(1) a®xa* (2) (a®)* (3) (ab3®)?
= Bt = Sw i wax» _ Q/F = g2 Tm
[ 1) kostE 2R L,
(1) a*xa’ @) (ah? (3) (a?h?)? 4)  a® x (a*)?
- 4t ) _
K = o " Qﬂ:&u 02 = 0 ,ow = Bx (8- Qmiwu Q/__

(2] wkostEEEE, [HRT A M

[REA DB : BB - Il - k3

(1) 3x2° @) 2x(-3) (3) -2'x5

= 3X4=(2 =¥ 8 - = (-8)x & =-40
@ Fx@h 6)  7*x(-2) 6) (~4)x(-5)°

= 9x258 =2322 = 4% (-2)= -qg = (-4)x 25 =~ (00
(M) (-2)* % (3%)? (8) -3x(-2) (9)  (-2)*x(=3%

=(8)x8l= (48 = -7)x(-8)=92 = 4x(-27) = -(08




WP (4B EP145)
(3]  #BEEZRT, DICEYARESHELBAL L,
2. ORADEK O

2 DR 2" O1fE o - "
2 DFHE 2" DI, 2 i 2 |4 | 2 b
B 1 220385 5 & TN N
)
2| 2% 5. ol | B | LB | o
- SR I I T I A n
Wiz, 2004 [|8]]|16
HeBon 391 2205 5 i ol il
L A L y L frA
AR TS 2 || 2 | | 2 |hs

< ORADERDIEL>  RROHOHIZ 0 RADEEOIEKIZSWTRAY L,

a#0 , nNEOBKD L x _
1 a= | (2) a= gn

<H 2 >HRDOEERD X,

(1) 3° (2) 573
= |, S
5% (2%
(%% 2] kofEzRk® X,
(1) 10° (2) 373 (3) 9-1 4) (-2)~*
= | L _ o |
7 " 27 Ty T T

4\ W.. o ﬁ .WM_W _/Q
-Np ROTHZHE X, [HERT A

(1) 2° (2) 472 30 27 4) 2
= | ”&wnﬁm uumu1ﬁ o |
2" e (-2~ g

5] o7V rORYVIEV ZLEL & 3,
[FRAl OBLR - EAMCEEICER Y Mt iEEE)

bhol-Z &
BRI A7-DIzTRLED L
Ko7z L

TOMNDNS (B L THBEEAFLETH2 L)




FRBF AL o D R 3% () #M (

) &

K4 (

T2EE FI3IFE HFN

WP (=REP146]
[1] #RE2RT, KOMVICEZ L,

3. EHoFHE

(No.

2)

[FRE DBLR « 55k - Bedk)

(1) amxar = ™M aswaz _ 9375
2) (@mr = mn
3 (@) = p"

<HI3> KOHELEL,

(1) a?xa’+a= Q.Em\\n N

4
(2) (a%b™3)? = Q/+ T..w " bqvq

_um

[#8 3] koFHELZE L,

(1) a*xa™s

1l

9»2-3 _ 9:w ) I—l

(2) a*xa?+a*

ptea-es) o5

I

va Anwwl—ulm
TN.
= Qﬂo FN = IQ\/\m

<Hl4> KROHEEZHEL,
5% + 54
e SRR
hv- - W - WP\ N.m.
[#8 4]) kodEELE X,
(1) 375x3?
uw-mi,‘ 3 | _

= w W
(2) 3%x372+32

= wm.;npv..m = WNUW

(3) 23x27"x(2%)73

i

3t C4)+(— =7
= 9 TSISUN _

_
27 (28




2] koBEE L, [HRT A ]
| (PR OB - B -l - 551)

(1) 371+32
uw,_-pnw&u_ﬂuwﬁm
(2 472+43
ik -5 _ |
IR

(3)  (2%)2x 32
= 95x3%= (4 x9=576¢

(4) 3 5x3%t+3-1

¥ d==1) B 0

Hw wH~

6)  (=2)*%x(-2)*+(-2)

- A..Nvf.w\_ = Alpvm\l \—I. = P
2> 32
(6) 53x52+52
~3+2-(-2
= w. ) _ ,w, _ m.
7 ANNV-N¢Lw¢ x 22
A4 e % o 27 4
= 3 %L =3 K2 =g
3 656 )

5] o7V roIRYIEV £ LEL & 3, ;
[RPAG OB : AT IR D AL HREE ]

bhot-Z b

RS- DIc TR LD &

o=z &

ZDOMNANS (B L CHBREHET DY)




